



Subtracting Like Fractions

$$\begin{array}{r} \text{Numerator} \\ \text{Denominator} \end{array} \frac{7}{12} - \frac{4}{12} = \frac{3}{12}$$

Solve the following:

1. $\frac{5}{8} - \frac{2}{8} = \underline{\quad}$

2. $\frac{9}{10} - \frac{3}{10} = \underline{\quad}$

3. $\frac{7}{9} - \frac{3}{9} = \underline{\quad}$

4. $\frac{8}{16} - \frac{5}{16} = \underline{\quad}$

5. $\frac{11}{15} - \frac{4}{15} = \underline{\quad}$

6. $\frac{7}{14} - \frac{2}{14} = \underline{\quad}$

7. $\frac{5}{6} - \frac{1}{6} = \underline{\quad}$

8. $\frac{6}{18} - \frac{1}{18} = \underline{\quad}$

9. $\frac{13}{20} - \frac{7}{20} = \underline{\quad}$

10. $\frac{11}{24} - \frac{5}{24} = \underline{\quad}$



Subtracting Like Fractions

$$\begin{array}{rcccl} \text{Numerator} & \mathbf{7} & - & \mathbf{4} & = & \mathbf{3} \\ & \hline \text{Denominator} & \mathbf{12} & & \mathbf{12} & & \mathbf{12} \end{array}$$

Solve the following:

1. $\frac{5}{8} - \frac{2}{8} = \frac{3}{8}$

2. $\frac{9}{10} - \frac{3}{10} = \frac{6}{10}$

3. $\frac{7}{9} - \frac{3}{9} = \frac{4}{9}$

4. $\frac{8}{16} - \frac{5}{16} = \frac{3}{16}$

5. $\frac{11}{15} - \frac{4}{15} = \frac{7}{15}$

6. $\frac{7}{14} - \frac{2}{14} = \frac{5}{14}$

7. $\frac{5}{6} - \frac{1}{6} = \frac{4}{6}$

8. $\frac{6}{18} - \frac{1}{18} = \frac{5}{18}$

9. $\frac{13}{20} - \frac{7}{20} = \frac{6}{20}$

10. $\frac{11}{24} - \frac{5}{24} = \frac{6}{24}$